Lecture XXXIII: \$4.5 Eigenvalues and Eigenspaces Recall: Last time we defined the characteristic polynomial of an non-matrix the eigenvalues & eigenrectors of the matrix.

A nxn materix
$$\dots$$
 characteristic polynninal of A
(aij)
 $P_A(t) = det (A - t I_n) = det \left(\begin{bmatrix} a_{u} - t & a_{12} \cdots & a_{1n} \\ a_{21} & a_{22} - t \cdots & a_{2n} \\ a_{n_1} & a_{n_2} \cdots & a_{nn} t \end{bmatrix}$
 $dequee n polynnical in t$
 $Goefficient of t^n = (-1)^n$

· λ is an argumater of $A \longrightarrow P_{A}(\lambda) = 0$ ($A \vec{v} = \lambda \vec{v} \mid p \text{ sume } \vec{v} \neq \vec{0}$) (λ is a nost of P_{A}) · $E_{\lambda}(v) = \zeta \vec{v} \text{ in } \mathbb{R}^{n} : A \vec{v} = \lambda \vec{v} \zeta = \mathcal{N}(A - \lambda T_{n})$ eigenspace for λ

$$P_{\mathsf{A}}(\mathsf{t}) = (-1)^{\mathsf{n}}(\mathsf{t}-\lambda_1)(\mathsf{t}-\lambda_2)\cdots (\mathsf{t}-\lambda_n)$$

Eigenvalues of A : $\lambda_1, \lambda_2, \lambda_3, \cdots, \lambda_n$ (real recomplex)
§9.5 \$9.6

• Algebraic multiplicity of $\lambda = \text{number of times } \lambda \text{ appears in the list}$ • Geometric multiplicity of $\lambda = \dim E_{\lambda}(A)$

$$E_{1}(\mathbf{A}) = \mathcal{N}\left(\mathbf{A} - \mathbf{I}_{2}\right) = \mathcal{N}\left(\begin{bmatrix}0 & 1\\ 0 & 0\end{bmatrix}\right) = S_{1}\left[\begin{bmatrix}1\\ 0\end{bmatrix}\right] \begin{bmatrix}Y_{2} = 0 & \text{stars}\left[Y\right] = \begin{bmatrix}0\\ 0\end{bmatrix}\right] = X_{2}\left[\mathbf{A}\right]$$

$$\lambda = 1 \text{ bis quantic multiplecity} = \dim G(\mathbf{A}), \quad \mathbf{A} = I \leq z.$$

$$(\mathbf{v}) \quad \mathbf{A} = \begin{bmatrix}1 & 0 & -2\\ 1 & 3 & 1\\ 1 & 3 & 1\end{bmatrix}$$

$$P_{\mathbf{A}}(\mathbf{t}) = \operatorname{hit}\left(\begin{bmatrix}1 & 1-\mathbf{b} & 0 & -2\\ 1 & 3-\mathbf{b} & 1\\ 1 & 3-\mathbf{b} & 1\end{bmatrix}\right) = (1-\mathbf{b}) \operatorname{hit}\left[\frac{3-\mathbf{b}}{3} + 1\right] = 0 + (-2) \operatorname{hit}\left[\frac{1-3+\mathbf{b}}{1-3}\right]$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})-3\right) = 2\left(3-(3-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})-3\right) = 2\left(3-(3-\mathbf{b})(-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})-3\right) = 2\left(3-(3-\mathbf{b})(-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})-3\right) = 2\left(3-(3-\mathbf{b})(-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})-3\right) = 2\left(3-(3-\mathbf{b})(-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})-3\right) = 2\left(3-(3-\mathbf{b})(-\mathbf{b})(-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})(-\mathbf{b})(-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{b})(-\mathbf{b})(-\mathbf{b})\right)$$

$$= (1-\mathbf{b})\left((3+\mathbf{b})(-\mathbf{$$

 $Eignendeus: \lambda_{1}, \lambda_{2}, \dots, \lambda_{n} \quad (possibly upcated!)$ In this situation $T(\overline{v_{1}}) = \lambda_{1}\overline{v_{1}}, \quad so \quad [T(\overline{v_{1}})]_{B} = \begin{bmatrix} \lambda_{1}\\ 0 \end{bmatrix},$

$$T(\vec{v}_{2}) = \lambda_{2}\vec{v}_{2} \quad \text{so} \quad \left[T(\vec{v}_{2})\right]_{S} = \begin{bmatrix} \lambda_{2} \\ \vdots \\ \vdots \\ \vdots \end{bmatrix}_{S} \text{, etc.}$$

$$\frac{(\text{mclude}: [T]_{SS} = \begin{bmatrix} \lambda_{1} \\ \lambda_{2} \\ \vdots \\ 0 \\ \vdots \\ \lambda_{n} \end{bmatrix} \text{ is diagonal}$$
Note that: $A = [T]_{EE}$ where $E = 3\overline{e_{1}}, \dots, \overline{e_{n}} E$ standard besis for \mathbb{R}^{n}

$$\underline{Q}: \text{ How to relate these z matrices } \text{ relations important}$$

$$\underline{A}: \text{ Write } S = \begin{bmatrix} \vec{v}_{1} \\ \cdots \\ \vec{v}_{n} \end{bmatrix} \quad (\text{put the basis of eigenvectors})$$

$$S \text{ is invertible because cols are lin. indep.}$$

$$(1a): S^{-1}A S \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots \\ \vdots \\ \end{bmatrix} = \begin{bmatrix} \lambda_{1} \\ \vdots$$

• Claim:
$$S^{-1}AS = \begin{bmatrix} \lambda_1 & 0 \\ 0 & \lambda_n \end{bmatrix}$$
 (Equivalently: $AS = S\begin{bmatrix} \lambda_1 & 0 \\ 0 & \lambda_n \end{bmatrix}$

Why? Compare Columns of both AS & S [~ 0]

$$(\mathcal{A}_{1}(AS) = A(\mathcal{A}_{1}(S) = A\widetilde{v}_{1} = \lambda_{1}\widetilde{v}_{1} = \mathcal{O}_{1}\left(S\begin{bmatrix}\lambda_{1}, 0\\ 0, \lambda_{n}\end{bmatrix}\right)$$

$$(f_{a}(AS) = A(J_{z}(S) = A\overline{v}_{z} = s\overline{v}_{z} = s\overline{v}_{z} = (A)_{z} h) A = (A)_{z} h$$

$$\frac{\operatorname{Example}: A = \begin{bmatrix} 5^{-1} \\ 8^{-1} \end{bmatrix} \qquad \operatorname{P}_{A}(t) = \operatorname{dt} \left(\begin{bmatrix} 5^{-1} \\ 8 \\ -1^{-1} \end{bmatrix} \right) = t^{2} - 4t + 3$$

$$\lambda = 1, 5 \text{ are the ady eigenvalues (both have adg mult = 1) = (t-5)(t-1)$$

$$\frac{\lambda = 1}{\lambda = 1}, 5 \text{ are the ady eigenvalues (both have adg mult = 1)} = \left(t - 5 \right)(t-1)$$

$$\frac{\lambda = 1}{\lambda = 1}, 5 \text{ are the ady eigenvalues (both have adg mult = 1)} = \left(t - 5 \right)(t-1)$$

$$\frac{\lambda = 1}{\lambda = 1}, 5 \text{ are the ady eigenvalues (both have adg mult = 1)} = \left(t - 5 \right)(t-1)$$

$$\frac{\lambda = 1}{\lambda = 1}, 5 \text{ are the ady eigenvalues (both have adg mult = 1)} = \left(t - 5 \right)(t-1)$$

$$\frac{\lambda = 1}{\lambda = 1}, 5 \text{ are the ady eigenvalues (both have adg mult = 1)} = \left(t - 5 \right)(t-1)$$

$$\frac{\lambda = 1}{\lambda = 1}, 5 \text{ are the ady eigenvalues (both have adg mult = 1)} = \left(t - 5 \right)(t-1)$$

$$\frac{\lambda = 1}{\lambda = 1}, 5 \text{ are the advective of eigenvectors and the the eigenvectors are diagonalizable and the the eigenvectors are diagonalizable matrices: computing prove is easy 1.
$$D = \begin{bmatrix} \lambda_{1}, 0 \\ 0 & \lambda_{n} \end{bmatrix} \quad m \quad D^{2} = \begin{bmatrix} \lambda_{1}^{2}, 0 \\ 0 & \lambda_{n}^{2} \end{bmatrix}, \quad D^{3} = \begin{bmatrix} \lambda_{1}^{3}, 0 \\ 0 & \lambda_{n}^{3} \end{bmatrix}, \quad M = 5DS^{-1}$$

$$R^{2} = (SDS^{-1})^{2} = (SDS^{-1})(SDS^{-1}) = SDS^{-1}SDS^{-1} = SD^{2}S^{-1}$$

$$\frac{\Lambda^{3}}{\lambda} = (SDS^{-1})(SDS^{-1})^{2} = SDS^{-1}SD^{2}S^{-1} = SD^{3}S^{-1}$$

$$\frac{\Lambda^{4}}{\lambda} = SD^{4}S^{-1} \quad a \quad D^{4} = \begin{bmatrix} \lambda_{1}^{4}, 0 \\ 0 & \lambda_{n}^{4} \end{bmatrix} \text{ from these}$$

$$\frac{\lambda^{4}}{\lambda} = SD^{4}S^{-1} \quad a \quad D^{4} = \begin{bmatrix} \lambda_{1}^{4}, 0 \\ 0 & \lambda_{n}^{4} \end{bmatrix} \text{ from these}$$

$$\frac{\lambda^{4}}{\lambda} = SD^{4}S^{-1} \quad a \quad D^{4} = \begin{bmatrix} \lambda_{1}^{4}, 0 \\ 0 & \lambda_{n}^{4} \end{bmatrix} \text{ from these}$$

$$\frac{\lambda^{4}}{\lambda} = SD^{4}S^{-1} \quad a \quad D^{4} = \begin{bmatrix} \lambda_{1}^{4}, 0 \\ 0 & \lambda_{n}^{4} \end{bmatrix} \text{ from these}$$

$$\frac{\lambda^{4}}{\lambda} = SD^{4}S^{-1} \quad a \quad D^{4} = \begin{bmatrix} \lambda_{1}^{4}, 0 \\ 0 & \lambda_{n}^{4} \end{bmatrix} \text{ from these}$$

$$\frac{\lambda^{4}}{\lambda} = SD^{4}S^{-1} \quad a \quad D^{4} = \begin{bmatrix} \lambda_{1}^{4}, 0 \\ 0 & \lambda_{n}^{4} \end{bmatrix} \text{ from these}$$

$$\frac{\lambda^{4}}{\lambda} = SD^{4}S^{-1} = \begin{bmatrix} \lambda_{1}^{2}, 0 \\ 0 & \lambda_{n}^{4} \end{bmatrix} \text{ from these}$$$$

Propulses of eigenvalues (in HW10)
() If
$$\lambda$$
 is an eigenvalue of A , then λ^{k} is an eigenvalue of A^{k}
(4) $k = 1, e, 3, \dots$)
(2) If A is invertible a λ is an eigenvalue of A , then $\lambda \neq 0$ a
 λ is an eigenvalue of A^{-1} . a $E_{\lambda}(A) = E_{\lambda^{-1}}(A^{-1})$
(3) A a A^{-1} have the same eigenvectors because $P_{A}^{(4)} = P_{A^{-1}}(B)$
(4) If λ is an eigenvalue of A a β is any number, then
 $(\lambda + \beta_{0})$ is an eigenvalue of $A + \beta_{0} = \lambda_{0}$.
Why? $+ A \overline{V} = \lambda \overline{V}$ $\overline{N} \neq 0$
(AttSL) $\overline{V} = A \overline{V} + (S \overline{V} = (\lambda + \beta_{0}) \overline{V}$ $\overline{N} \neq 0$ so \overline{N} is an eigenvalue $\lambda + \beta_{0}$.
Example $A = \begin{bmatrix} 10^{-2} \\ 15 \\ 1 \end{bmatrix}$ $\overline{P}_{A}(B) = -\lambda(\lambda^{-2})(\lambda^{-3})$.
A simplen $(\lambda = 0 \text{ is an eigenvalue})$
 $e^{2}, 2^{2}, 3^{2}}$ are eigenvalues of A^{2} , $0, 2^{3}, 3^{3}$ are eigenvalues of A^{3}
. Eigenvalues of $A - SI_{5} = \begin{bmatrix} -40 - 2 \\ 1 - 2 \\ 1 \end{bmatrix}$ $(A - 5), -5, -5, -5$